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2y 0.77% (-0.4bp)
10y 1.62% (-3.3bp)
30y 234% (-3.9bp)

[7|E} 10YE]

o:F== 0.70% (-9.9bp)
L=l -0.10% (-9.8bp)
m2A 0.20% (-10.0bp)
O|E2|0F 1.20% (-9.2bp)
A 2 0.91% (-8.1bp)
dg|A 8.26% (-8.1bp)
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DOW30 1839246 (+0.54%)
NASDAQ 5339.52 (+0.84%)
S&P500 217718 (+0.65%)
SHANGHAI 304231 (+0.54%)
FTSE100 691140 (+1.12%)
DAX30 10674.18 (+2.28%)
CAC40 4509.82 (+2.27%)
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ez/2t8  1.1206 (+0.0020)

S/ 11289 (+0.62)

e/ 100.74 (+0.44)

=He{/9|ot  6.6513 (-0.0225)
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(+2.16%)
(+1.00%)

WTI 46.32
COMEXZ 134470
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685.24 (+1.03%)

1103.30 (-16.80)
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132.15 (+0.83)

110.82 (+0.13)
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ly  -4.80bp (+0.40bp)
2y  -6.75bp (+0.05bp)
3y  -4.85bp (-0.15bp)
S5y  -535bp (+1.25bp)
10y -17.40bp (+0.80bp)

8. IRS/CRS &%

“IRS 22| o2 MAAIHO| 0F 7FI2I%t SHE
2 o7t 2 o2 wN s Zey
QRS 2| GAl 1S QP BE ROIN Stet FI|ZolN LmelH 297|2 FHedt =

20,24 5EHZE L7to] =2 AHzjE =¥

2

N ZM EEE Mass dgez FY

o —

RS 22|

1Y 1.2750% (-1.50bp)
2Y  1.2525% (-2.75bp)
3Y  1.2475% (-3.25bp)
5Y  1.2725% (-4.75bp)
7Y 1.2900% (-5.50bp)
10Y 1.3450% (-6.50bp)
12Y  -2.25 (-1.25bp)
2*3Y  -050 (-0.50bp)
2*sY 200 (-2.00bp)
3*5Y 250 (-1.50bp)
5*7Y 175 (-0.75bp)
5+10Y 725 (-1.75bp)
*CRS 22|

1Y 12050% (+1.50bp)
2Y 1.0600% (-1.50bp)
3y 1.0400% (-1.00bp)
5Y  0.9800%  (-2.00bp)
7Y 0.9350%  (-3.00bp)
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(-4.00bp)

10Y 0.9200%
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“3Y oY X B

02-9¢ XMz PMI (0f4:519, 0|%:52.0)

=999 ®=Y PMI (0] Ah:53.1, 0|H:53.6)

-9¢ AMH|A PMI (0] 4521, 0|H:51.7)
SEZE-98 HZY PMI (041515, 0|F:517)
-921 AH|A PMI (0| AH52.8, 0|7:52.8)
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